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QUESTION 1

What is one feature that MSTP has that RSTP does not have?
A. load-sharing on redundant links

B. alternate root ports

C. multiple designated ports per segment

D. one set of BPDUs per VLAN

Correct Answer: A

QUESTION 2

Which HP software platform provides centralized network management, monitoring, and configuration of wired and
wireless network infrastructure devices, as well as traffic monitoring, user management, and other capabilities?

A. HP IntelligentManagement Center (IMC)
B. HP Intelligent Resilient Framework (IRF)
C. HP Virtual Cloud Networking (VCN)

D. HP Virtual Connect FlexFabric

Correct Answer: A

QUESTION 3

A customer is implementing an access layer solution with four HP Comware switches in an Intelligent Resilient
Framework (IRF) virtual device or domain. The customer expects to add two additional switches of the same model and
would like to add them to the existing IRF virtual device. What must the customer verify?

A. that the IRF virtual device has spanning tree enabled on it

B. that the new switches are both assigned the same member ID as the master of the existing IRF virtual device

C. that the IRF virtual device is using a daisy chain topology to provide better resilience

D. that the switch model supports at least six switches in an IRF virtual device

Correct Answer: A

QUESTION 4

A company has a policy that requires all administrators to use secure access for in-band management. The
administrator sets up SSH access on the HP Comware switches in the network to meet this requirement. The
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administrator enables SSH, and creates SSH keys and administrator accounts on the Comware switches. Every time
the administrator attempts to log in to the switches the SSH access is denied. The VTYs are configured as: user-
interface vty 0 15 authentication-mode password user privilege level 3 quit What is the correct authentication mode the
administrator must configure on the VTYs of the Comware switch so the switch prompts for usernames and

passwords?
A. username
B. aaa

C. scheme
D. local

Correct Answer: C

QUESTION 5

Refer to the exhibit.

Provision-1{config)# show
{-output omitted->

Fort Type

1 100-1000T
19 100-1000T
21 100-1000T

Cost Priority
20000 128
20000 128
20000 128

Designated
Root
alternate

spanning-tree 1,19,21 instance ist

Forwarding
Forwarding
Blocking

Designated
Eridge
d4c9ef-851680
dl7ezZ8-cec94f
d07e28-cedile

This switch currently assigns all VLANSs to Multiple Spanning Tree Protocol (MSTP) instance O or the Internal Spanning
Tree (IST). Which statement correctly describes interface 21?

A. The interface is down at Layer 2; it is not available for sending or receiving any traffic.

B. The interface is an edge port but has received Bridge Protocol Data Units (BPDUSs), so it is disabled.

C. The interface does not forward or accept data traffic, but it is ready to start forwarding if interface 19 fails.

D. The interface does not support spanning tree; it is possible that it will introduce a loop in the network.

Correct Answer: C
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